



Type-Iù -xm $(1+2)^{7} = 1 - 2 + 2^{2} - 2^{3} + \dots$ $(1-x)^{2} = 1+x+x^{2}+x^{3}+...$ $(1+x)^2 = 1 - 2x + 3x^2 - \dots$ (1-x)2 = 1+2x+ 3x2+... 1. Solve (D2+2) y=x2. $AE = m^{2} + 2 = 0$ $m^{2} - 2$ m= +121 $CF = e^{0X} (A \cos 2x + B \sin 2x)$ = ALOSEX+ BSIDEX. [constant torm should be 1] $PI \Rightarrow \frac{1}{D^{2+2}} \chi^2$ $= \frac{1}{8(D_{2}^{2}+1)} = \frac{1}{2} (1+D^{2}|2)^{2} \propto^{2}$ $= \frac{1}{2} \left[1 - \frac{D^2}{2} + \left(\frac{D^2}{2} \right)^2 - \dots \right] \chi^2$ $= \frac{1}{3} \left[1 - \frac{D^2}{2} \right] \chi^2 = \frac{1}{3} \left[\chi^2 - \frac{D^2}{3} \chi^2 \right]$ $= \left[\frac{x^{2}}{2} - \frac{1}{4}(2)\right] = \frac{x^{2}}{2} - \frac{1}{2} = \frac{1}{2}(x^{2})$ Y= CF+PI NO 35/ 340 = ALOSEN+ BSIDER + + (x2-1) 2. $(D^2 + 3D + 2)y = x^2$. 2. $(D^2 + 3D + 2) y = x^2$. AE=) $m^2 + 3m + 2 = 0$ (m + 2)(m + 1) = 0m= -2,-1 $CF = Ae^{-\chi} + Be^{-2\chi}$.





 $PI = \frac{1}{D_{+3D+2}^2} = \frac{1}{2(1+\frac{D_{+3D}^2}{2})}$ $=\frac{1}{8}\left(1+\frac{D^{2}+3D}{2}\right)^{-1}\chi^{2}$ $=\frac{1}{2}\left[1-\left(\frac{D^{2}+3D}{2}\right)+\left(\frac{D^{2}+3D}{2}\right)^{2}-\ldots\right]2^{2}$ $= \frac{1}{2} \left[1 - \frac{D^2}{2} - \frac{3D}{2} + \frac{9D^2}{4} \right] \frac{1}{4} \frac{2}{2}$ $= \frac{1}{9} \left[\chi^2 - \frac{2}{9} - \frac{3(\chi)}{2} + \frac{9.2}{4} \right]$ = ま [x2-1- 登+3] = ま [x2-3×+] Y= CF+PI $= Ae^{2} + Be^{2x} + \frac{1}{2} \left[x^{2} - 3x + \frac{1}{2}\right]$ Type - $iv \rightarrow e^{ax} + (x) - (a) \rightarrow (a)$ $AE \Rightarrow m^2 - 4m + 3 = 0. \Rightarrow (m - 3)(m - 1) = 0$ 1. (D2-AD+3) y= ex (082x m=1,3, => Roots are real and different CF = Ae^a + Be³x $PI = \frac{1}{p^2 + ipt_3} e^{\alpha} \cos 2x$ $D = 1 D + 1 = \frac{D^{4}}{(D + 1)^{2}} - 4(D + 1) + 3 = \frac{D^{4}}{D^{2}} = \frac{D^{4}}{D^{2}} = \frac{D^{4}}{D^{2}} = \frac{D^{4}}{D^{2}} = \frac{D^{4}}{D^{2}} = \frac{D^{4}}{D^{2}} = \frac{D^{4}}{D^{4}} = \frac{D^{4}}{D^$ $D^{2} - (a^{2}) = \frac{a^{2}}{D^{2} - aD} = \frac{a^{2}}{D^{2} - aD} = \frac{a^{2}}{-A - aD} = \frac{1}{-A - aD}$ $= e^{\chi} \frac{1}{-20-4} = e^{\chi} \frac{1}{-20+4} = e^{\chi} \frac{1}{-20+4} (-20+4) \cos 2\chi$ -20-4





 $= e^{\pi} \frac{-2D+4}{4D^2-16} (082\pi) = e^{\pi} \frac{[-QD}{-QD} (082\pi) + 4(082\pi) - 16 - 16$ $= -\frac{e^{\chi}}{32} \left[+28 \dot{n} 2 \chi(2) + 4 (082 \chi) \right]$ $= \frac{-e^{\chi}}{-28} \left[4 \sin^2 \chi + 4 \cos^2 \chi \right] = \frac{-4e^{\chi}}{-38} \left[\sin^2 \chi + \cos^2 \chi \right]$ $= \frac{-e^{\alpha}}{2} \left[siza + cos 2x \right]$ Y= CF+PI $= Ae^{2} + Be^{27} - \frac{e^{2}}{8} [sin 2x + cos 2x]$ Type-5 RHS : a sint PI: $x \frac{1}{\phi(0)} = x \hat{v} x = \frac{\phi'(0)}{(\phi(0))^2} = x \hat{v} x$ 1. Solve (D2+4) y = 2 size Awallary Equation to m2+4=0 m2=-4 m= ± 2i The roots are imaginiony -> CF = ex (ALOSEX+ BRIDZX) = AUBS271+ B30727 Particular Integral! $x - \frac{1}{2} - \frac{1}{80x} - \frac{20}{(2^{2}+4)^{2}} - \frac{1}{80x}$ $D^2 \rightarrow -a^2 = -1$ $\alpha - \frac{1}{-1+4} = \frac{20.8 \text{ in } x}{(-1+4)^2}$ $PI \Rightarrow \frac{1}{3}sinx - \frac{2lo8x}{9} \Rightarrow y = cF+PI$ = Alos2x+Bain2x+3/3sinx-3/cosx





2.
$$(D^2 - 2D+1) = x \cdot \sin x$$

AE $\Rightarrow m^2 \cdot 3m + 1 = 0$ $m \pm 1/1$
Roots are Real and equal
 $CF = (A + Bx) e^x$.
 $PI = x - \frac{1}{D^2 - 2D + 1} \sin x - \frac{(2D-2)}{(D^2 - 30\pi)^2} \sin x$
 $= x - \frac{1}{(-2D+1)} \sin x - \frac{(2D-2)}{(x-D-2)} \sin x$
 $= -x - \frac{1}{2D} \left(\frac{DD}{2D}\right) \sin x - \frac{(2D-2)}{(2D)^2} \sin x$
 $= -x - \frac{1}{2D} \left(\frac{DD}{2D}\right) \sin x - \frac{(2D-2)}{AD^2} \sin x$
 $= -\frac{x}{2D} \sin x - \frac{(2D-2)}{AD^2} \sin x$
 $= -\frac{x}{2D} \sin x - \frac{(2D-2)}{AD^2} \sin x$
 $= \frac{-x}{-4} - \frac{2D \sin x}{-4}$
 $= \frac{x}{2} (0 + x + \frac{2D \sin x}{A} - \frac{2B \sin x}{A})$
 $= \frac{x}{2} - (0 + x + \frac{1}{2} \cos x - \frac{1}{2} \sin x)$